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The 3129 and R''9 both agree with 015210

OVERVIEW

The & n3 initially said that if the 71wn of 77717 P0Iw 293 is in a case where he was a
7y for MY, we can resolve the query of 27 that according to the 1127 there is
no MMIxY nX7vn (therefore he pays a 1"n for the w°73) and according to X" there is
mxh ax7va (and therefore he pays a w"1 for the w>73). The X n3 responded that
we can interpret the 71w in a different manner that both 71271 X"9 agree to 012110
that Mm% pays a w"1; however that 71wn is discussing "W "y MMIX and they
argue whether we follow v"1 regarding 1°177 7X¥12 7P that he pays a w'"1 (the view
of X"7), or we do not follow the view of v"9 and 777 pays only a 1" even 173177 7XM2
(the view of the 71127). We cannot therefore resolve the query of &27, since 71271 X"9
are arguing the rule of v", not whether there is M™M%% AX7Y7. Our MoOIN explains
why it was necessary to state that X"1 7127 agree with 019110.
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And this is the same rejection as was mentioned previously in the X713 when it
stated ‘®938nY’ (can you think that by 7°17X °> n1M17% there will be a payment of

v"1 according to &"7). [However, previously the X713 did not elaborate as much,
as it does here.]

nvoIn asks:
- 15 X920 9197909 Y 3‘.71'\‘1 1199 9IRN ON)

And if you will say; but why did the X711 ‘force’ itself to say that 11271 X" agree
with 91220?!

Mo0IN answers:

' X,m; when the X3 wanted to infer from this same 73w» (and its explanatory Xn»12) that Mg pays 1.
* The X3 (when saying the X120 explanation) did not mention that the X" 1127 of that 73wn agree with 01910 that
mTNX pay a w'"1, as the X7nx mentions here. [In fact, only when the 'k720M' was rejected, did the &7 13 mention that
(only) X" agrees with 0120 (but not the 7127 of that 7711wn).] See “Thinking it over’. Additionally, the X773 here asks
91 U"95% Y nYAwT R, which it did not mention on the X"y,
3 The better choice would be that the X" 1127 of the mwn should agree with the 0191107 1127, for that is the 7577, and
not follow a 7 nv1.
* In order to reject the resolution of s'%27 query regarding m1%Y AxTY it is sufficient to say that it was "y Mg
1w and the X" 1127 argue in ¥" (whether 117 9X72 7P pays a ¥"1 or not); but they both can agree with the 7127
0121m107 that 7°77IR > MY pays a 1"1. Why say that they both agree to n13m10, when it is seemingly not relevant?!
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And one can say; for if the (X"77) 71127 (of that miwn) agree with the 3239 of 015110
(that 77X *> MY pays a 1'17); we can resolve the query of *wX 27 that there is
no M"11xY "W to pay a quarter of the damage.

n9o1n offers an alternate answer:’
= 12295 PrI I8N 9TYHN 2249 91207 1NINIIN 9 TIINA INT NIV

And additionally; if X'9 will maintain like the 0101107 3129 that by %>

Y193TIR he pays a 1''’, then X" will maintains-
- 59139 Y NIDT 1199V 295 9207 22 DY N DY P 2NN KD MY 2T Ty M8

That by »w 5"y 7192 he will not be liable for a @', even though that X"

agrees with ©''9 (that P17 7312 172 pays a w"1), since there is no Y"'p -
- 21980 NYN @YUM PN PN I8N YHT) )W MNINAT 1197

For since m 112 of 9" in the P37 931 pays only a 2'"1 (the view of the 7127
010m107), therefore -
- 7513 580 BN %9 BYYS KY 1997 MNIY )

even 1IP7 MY (meaning) M7 *"'y MM11X) will also only pay but a 2''m.

Mmoo responds to an anticipated difficulty:
= 93593 YN DY NN ANINT 199 NDNI DIPNIY 19295 19IYNY NN N9

> Later on X, there is a query by *wX 27, whether 1w "y Mm% pays a pr1 ¥°27; half of the 1"n of 7RK * MM
(for MM1x? 1w ), or he still pays a 1"1 like 777X °3 MK (for MNNXY MW PX).
% According to our current interpretation, the 7awn of 293 is discussing 1w *"y MM (see ‘Overview’), and if the
1127 of the 71wn (who say that he pays a 1"n for this "W "y mMIX) agree with the 7127 of 0120 (that regular m717x
pay a 1"m); we can derive from this that (according to the 7321 of that 71wn) there is N1MI¥? 11w X since he is paying
a 1"n for "rw "y mMIx. However if the 7127 (of that 71wn) agree with 010m10 that M™7¥ pays a w"3, then it is
understood that by "W >"vy n7¥ he will pay a 1"f, but it has no connection to the query of *w& 17 which is (only)
according to the 7127 of 019110 (who maintain that 717X *3 MM pays a 1"1).
’ The first answer was why we cannot say that the 1127 (of the 71wn) agree to the 012107 1127; this answer explains
why X" cannot agree to 0122107 J127.
8 The reason v"1 maintains that PI°I7 %M 1P pays a w"1 is because he derives it through a 1"p from 23 jw; if by W
931 who are 1"772 MWD, nevertheless P17 1¥n2 they are 21 a w"1, surely 199, which is 1"'7172 21, should pay a w"1
in P17 7xn. However if X" agrees with the 0121107 71127 that 7°77IR °3 MM pays a 1"7, he will also maintain that
W "y NIX pays only a 1" even I XM, as M20IN goes on to explain.
? To rule that "w *"y MMIX pays a pr7 7¥m2 "1 we need to derive it through a 1"p from 2" (see footnote # 8). We
cannot derive it from a regular 1" because there is a X379 (see 779 1127 M1doN), for we will say that regular 1"
pay a w"1, since it is 191, however (MW "¥) MY, which is only 112 will pay a 1"n (even p1°17 mwn3). [Additionally,
it is counterintuitive that 717X " M7 pays a "1 and 1w "y MMOX pays a w"1.] We therefore need to derive
(R "'y MM from 707K °3 M0 (where the previous X37°0 does not apply since they are both 113), however the
0121107 1127 maintain that 7°77IX *2 MY pay only a prai 7x¥n2 1A, there is therefore no 1"p. However, if X"9 agrees
with 0120 that 777X > MMIX pays a PI°37 7Xn2 w"1, we can derive that "1°w "y MY (which is 179 and is 270
even 1"712) should certainly pay a P11 %721 W',
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And the X713 did not want to establish that 731271 X" (of the 7i1wn) agree with 7129
o127 (that M™M7X pays a 1"m) and in order to avoid the difficulties N1vOIN
mentioned, we will say that the 71wn is discussing a case where for instance the
dog placed the coal on the @>73 in an unusual manner'’ —

mooIn replies; the XM did not want to establish the 773w in this manner
309 5395 Mr1an Yo Yy pa o8N BYUNRT 9915 1YY XNT
For it is easier for the X773 to maintain that he pays a 1" for the entire w°7» as

°'""9 rules.

SUMMARY

If the X"97 7327 agree with D191107 71271 we can resolve that MxY "W PX; if X"
agrees to 0191107 1127, there can be no "1 for "°w >"¥ NIMIX even according to v"A.
The X 1) assumes that he is liable a 117 for the entire w72

THINKING IT OVER

Initially (on the '® T¥), when the X% answered that the np17mn between the 13297
X", is whether we agree with ©"1 or not,"® was it also necessary to assume'* that
they both (the X" 1121) agree with 019m10?"

' The fact that he placed it on the w73 in an unusual manner, and did not throw it; would make the damage done to
the place of the nom3, a p>1n of 17 and not M. Therefore both of NvOIN objections are not relevant, since it is not
MY we cannot derive anything regarding mm1g? "1°w @ (according to the 1127) an he will be 21 a "1 according
to X" since this is a case of a regular 17 7%12 17P (not MMIX). However this will apply only to the damage done to
the n2man opn. The damage done to the rest of the w73 will either be NM1Y according to 33m " or completely Mo
according to wp? w™. See the X713 later on &,2 (and 231 7"7 R,7> M20IN).
" The mawn writes 1"n 05wn w7 597; the simple reading of the mwn indicates that he is 2n for the entire w>73, not
only for the nroan opn.
12 See by1 11"7 x,m° Moo (TIE footnote # 9).
" See footnote # 2.
'* This may depend on whether we are 0% in the beginning of the 9o the inserted brackets [ 72922 7K Xow X9R
o"a].
15 See ym9 11°31 MoOIN and 79 MR AT onb A
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